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0.50m’ ©°]a} 6.26 6.79 7.21 7.74 8.59 9.65 10.71 11.77
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5 0.127

6 0.154| 0.172| 0.192| 0.212| 0.234| 0.256] 0.279| 0.303] 0.328| 0.354| 0.380| 0.408
7 0.180| 0.202| 0.225| 0.249| 0.274| 0.300| 0.328| 0.356| 0.385| 0.415| 0.447| 0.479
8 0.207| 0.232| 0.259| 0.286| 0.315| 0.345| 0.376| 0.409| 0.442| 0.477| 0.513] 0.550
9 0.234| 0.263| 0.292| 0.324| 0.356| 0.390| 0.426| 0.462| 0.500| 0.539| 0.580| 0.622
10 0.261| 0.293| 0.326| 0.361| 0.398| 0.435| 0.475| 0.516] 0.558| 0.602| 0.647| 0.694
11 0.288| 0.324| 0.360| 0.399| 0.439| 0.481] 0.524| 0.569| 0.616| 0.665| 0.715| 0.766
12 0.316| 0.354| 0.394| 0.437| 0.481| 0.526| 0.574| 0.623| 0.675| 0.728| 0.782] 0.839
13 0.343| 0.385| 0.429| 0.475| 0.522| 0.572| 0.624| 0.678] 0.733| 0.791| 0.850| 0.912
14 0.371| 0.416| 0.463| 0.513| 0.564| 0.618] 0.674| 0.732] 0.792| 0.854| 0.918| 0.985
15 0.398| 0.447| 0.498| 0.551| 0.606| 0.664| 0.724| 0.786| 0.851| 0.918] 0.987| 1.058
16 0.426| 0.478| 0.532| 0.589| 0.648| 0.710| 0.774| 0.841] 0.910| 0.982| 1.055| 1.132
17 0.454| 0.509| 0.567| 0.627| 0.690| 0.756| 0.825| 0.896| 0.969| 1.045| 1.124| 1.205
18 0.481| 0.540| 0.601| 0.666| 0.733| 0.803| 0.875| 0.951] 1.029| 1.110] 1.193| 1.279
19 0.509| 0.571| 0.636| 0.704| 0.775| 0.849| 0.926| 1.006| 1.088| 1.174| 1.262| 1.353
20 0.537| 0.603| 0.671| 0.743] 0.818| 0.896| 0.977| 1.061| 1.148| 1.238| 1.331| 1.427
21 0.565| 0.634| 0.706| 0.782| 0.860| 0.942] 1.028| 1.116] 1.208| 1.303| 1.401| 1.502
22 0.593| 0.665| 0.741| 0.820| 0.903| 0.989| 1.078| 1.171] 1.268| 1.367| 1.470| 1.576
23 0.621| 0.697| 0.776| 0.859| 0.946| 1.036| 1.130| 1.227| 1.328| 1.432| 1.540| 1.651
24 0.650| 0.728| 0.811| 0.898| 0.988| 1.083| 1.181| 1.282| 1.388| 1.497| 1.609| 1.725
25 0.678| 0.760| 0.847| 0.937| 1.031| 1.130] 1.232| 1.338] 1.448| 1.562| 1.679| 1.800
26 0.706| 0.792| 0.882| 0.976| 1.074| 1.177] 1.283| 1.394| 1.508| 1.627| 1.749| 1.875
27 0.734| 0.823| 0.917| 1.015] 1.117| 1.224| 1.335| 1.450| 1.569| 1.692| 1.819| 1.950
28 0.763| 0.855| 0.953| 1.054| 1.160| 1.271] 1.386| 1.505| 1.629| 1.757| 1.889| 2.026
29 0.791| 0.887| 0.988| 1.093| 1.204| 1.318] 1.438| 1.561| 1.690| 1.822| 1.959| 2.101
30 0.819| 0.919| 1.023| 1.133| 1.247| 1.366] 1.489| 1.617| 1.750| 1.888| 2.030| 2.176
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" H10.0xB14 2| 0.068| 21 0.014 0.082 0.164
" H10.0xB17 9| 0096 | 21 0.02 0.116 1.044
" H10.0xXB20 17 0.127 21 0.027 0.154 2.618
" H10.0xB23 | 35| 0.164| 21 0.034 0.198 6.93
" H10.0xB26 | 43| 0203 | 21 0.043 0.246 10.578
" H10.0XB29 54 0.246 21 0.052 0.298 16.092
" H10.0xB32 | 16| 0293 | 21 0.062 0.355 5.68
" H10.0xB35 8| 0344 | 21 0.072 0.416 3.328
" H10.0xB37 1 0.38 21 0.08 0.46 0.46
" H10.0xXB41 3 0.455 21 0.096 0.551 1.653
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o}, AR 2 AIZE ¢ (0.198m'+5.34m') X7.5hr=0.646hr HR | 0.646




W ETS HA ot
= = A = = A =t = 2 |d I
O} FpA| ot
(H10.0xB41) | = &Aig9
(100m ©]u}) 7hod B2 F 0.6 9

— 0.551(AA) + 1.1(AAF30° #AAAd &)

3l 0.6
=05

- 25 20% FHAdte]

=0.5 X 1.2 = 0.6%]
o 28 312085 FExRgR) o] 1.2
o BB 1.2 EF XA x) ol 1.2
2t 7FA A 71 /8 ] (HEQ1E) - 0.103%] o] 0.103

— 0.551m + 5.34m" = 0.103
ol ¥ ZAAZF 2 (0.198m' +5.34m ) X7.5hr=0.774hr HR | 0.774
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Y

H =3y o M T
(o] (o) 58 2 A = =T
1. F34 a4 m' 0.352
(T50—80) V = 0.32m'<1.0 = 0.32
(749, 34 V' = 0.32m'x1.1 = 0.352
2. WA Fol7] V = 0.32m'x1.0 = 0.32 m’ 0.32
(vF =)
3.8 2 V = 0.32m'<0.03 = 0.01 m' 0.01
(1:3)
31 —







3~ HFA(WI1600) LT
3 3 a5 2 A 2| 2%
1. A4z AdA Ton 0.033
(21%21, T1.4) L1 = 1.6X8EA = 12.8
W1 = 12.8x0.822kg/m = 10.52
(6060, T1.4) L2 = 1.0x2EA = 2.0
W2 = 2.0x2.536kg/m = 5.072
(2427, T1.8) L3 = 0.72X14EA = 10.08
W3 = 10.08x1.815kg/m = 18.30
W = 10.52+5.072+18.30 = 33.89kg
2. 1A AR (HE) W = 33.89 X 70% = 23.7 kg 23.7
3. TEE g7 V = (0.39%0.08%1.6)+(0.11x0.1x0.39) = 0.054 m’ 0.054
(A B o7+
S714=71)
4. HEZAYE V = 0.054m Ton 0.124

W = 0.054x2.3Ton/m" =

0.124
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